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A word is represented by only one set of numbers as given in any one of
the alternatives. The sets of numbers given in the alternatives are
represented by two classes of alphabets as shown in the given two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these matrices can
be represented first by its row and next by its column, for example, ‘D’ can
be represented by 02, 30, etc., and ‘Z’ can be represented by 00, 77, etc.
Similarly, you have to identify the set for the word “TANK”.

UF Aeq dad UH TEA-HAE aRT i s ¥, S By Rewedt A @
frdt v & Qar s &) Aeedl & Bu v drarasg el & o ant
gRT goifw arw §, Sar & Bu av ) Jeget & ) el & e AR
Gfes & @Ea1 0 @ 4 ¢ AR el H 5 @ 91 39 HYE A T IR
H ugel 3uh Ufh AR A A TaE e gry aRfar S AEAr §
3eIeoT & faw ‘D’ @Y 02, 30, 3T gRT GATAT ST WehaT ¥ AAT ‘2 W00,
77, 3G ERT GRAAT ST Whel §1 W oRe A JUd oA & BU kg
“TANK’ & o0 @ &1 UgaEdr ¢

Matrix-I Matrix-ll
-l Il
0]1]2|3]|4 5(6|7)|8|9
0(Z|O|D|W|X S|A|V|X|T|U
1|G[M|N|H|V 6| KIM|[O|P|S
2|E[(O|Y|K|T 7|L|P[Z|A]|D
3|ID|G|W|L|R 8|F|H|J|L|N
4(A|E|JU|[N|K glulJd|Q|Vv|X

Options:
1) 24, 40, 12, 86

2) 11, 55, 89, 23
3) 58, 78, 12, 44

4) 24, 55, 43, 34
Correct Answer: 58, 78, 12, 44
Candidate Answer: 58, 78, 12, 44

QID: 104 -
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7 3R gfadl # ¥ 3@ =W AgA & AT
orm & vy sl BT %

9
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Options:
1)

Correct Answer:

Candidate Answer:

QID: 105 -
Which answer figure will complete the pattern in the
question figure?

Fla @ I APl TH HPlad & TasT & QO
FHN?
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Options:

1)

2)

3)

4)

Correct Answer:

e

Candidate Answer:

QID : 106 -

If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

Ify w gUUT # AB [T W @ AW, & & T
IR HHAAl A T Bl O dpla uy gl &

g ufafasa gefr?

ARk B
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Options:
1)

2)

3)

4)

S Q¥ © |©

Correct Answer:

>

Candidate Answer:

>

QID: 107 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opened?

@ & gH Apladl A R@T HGER FEE H
A Dedd JUT Treldd & a1 ag fhg 3R IFHA
st fears game
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Options:
1)

2)

3)

4)

0, 0
o°

Correct Answer:
Oo oO
00
O O

Candidate Answer:
O0 oO
00
O O

QID: 108 - If 'A' means '+', 'B' means '+', 'C' means 'x' and 'F' means '-', then
33B11A2C4="?
gfe A o1 8 '+, B BT o '+, e T o i aur B T sif - |,

33B11A2C4="7?
Options:

1)6

2) 10

3)11

4) 12

Correct Answer: 11
Candidate Answer: 11

QID:109-1f9S9A3=27and4S3A2=6,then5S2A5="?

IC9S9A3=27TM4S3A2=68,A55S2A5="2
Options:

1)4

2)6

3)1

4)2

Correct Answer: 2

Candidate Answer: 2
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QID : 110 - Arrange the given words in the sequence in which they occur in the dictionary.
1. Post
2. Page
3. Pant

4. Penny
5. Peal

frafafed Weal 3 UGN H 3 ald HH & IR |
1. Post
2. Page
3. Pant

4. Penny
5. Peal

Options:
1) 23541
2) 23514
3) 23415

4) 23451
Correct Answer: 23541
Candidate Answer: 23541

QID : 111 - In the following question, select the missing number from the given series.
5,8,13,20,?

fufafad uy & iU U fawedl & ¥ g oiw 1d Sifor|

5,8,13,20,?

Options:

1) 29

2) 27

3)28

4) 30
Correct Answer: 29
Candidate Answer: 29

QID : 112 - A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.
AD, FI, KN, ?

T 3Ry foar g, o ¥ Ue U qw 81 3 T fawedt § 9 9 udt fawen g, S o H B |

AD, FI, KN, ?

Options:

1) PR

2)PS

3)QR

4) QS
Correct Answer: PS
Candidate Answer: PS

QID : 113 - In the following question, select the odd word from the given alternatives.

frafafred uy & faw e fawedl & ¥ faww wsg &1 9w
Options:

1) Office

R

2) School

femerm

3) College

4) University

fayfaemey

Correct Answer: Office

Candidate Answer: Office

QID : 114 - In the following question, select the odd number pair from the given alternatives.
frofoied uy & fow e fawedt & @ favy e gm &1 gl
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2)8-24
3)11-33

4)5-25
Correct Answer: 5 — 25
Candidate Answer: 5 - 25

QID : 115 - In the following question, select the odd letters from the given alternatives.

frafatea uy & faw 7u el 8§ ¥ fawm sierl &1 gful
Options:

1) ADG

2) HKN

3) Qsv

4) ORU

Correct Answer: QSV

Candidate Answer: QSV

QID : 116 - Identify the diagram that best represents the relationship among the given classes.
Carnivorous, Lion, Goat

T8 3R AT S = 3w 7w il & o & Fey o1 FE) T e g
nraERY, 2R, THA

Options:
1)

00
®

3)

©)o

4)

@GP

Correct Answer:

©o

Candidate Answer:

QID : 117 - In the following question, select the related word pair from the given alternatives.

Rain: Clouds::?:?

frafafed uy & fou U fawedl § ¥ defd s gm &1 gful
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Options:

1) Summer : Season

Pl Bd

2) Heat : Fire

moff : aify

3) Winter : Mountain

i : UgTS

4) Heat : Cold

T : FaT

Correct Answer: Heat : Fire

Ty ¢ o

Candidate Answer: Heat : Fire

QID : 118 - In the following question, select the related number from the given alternatives.
12:168::14:?

fofofad uy & fow v et & & sl e & gful

12:168::14:?

Options:
1) 225

2) 224
3) 230

4) 222
Correct Answer: 224
Candidate Answer: 224

QID : 119 - In the following question, select the related letters from the given alternatives.
EGO:FHP:: MAN:?

fafoRad oy ¥ U U fawedl & & Heifla SRl &1 gl

EGO:FHP:: MAN:?

Options:

1) NBP

2) NCO

3) NBO

4) NCM
Correct Answer: NBO
Candidate Answer: NBO

QID : 120 - In the following question, select the word which cannot be formed using the letters of the given word.
MONOPOLISTIC
frafafed fowedl § ¥ a8 Wsg gAY S ST T Meg & 31&RT BT TN ISP g a1 off Havdl|

MONOPOLISTIC

Options:
1) MONO

2) LIST
3) LOOP

4) HOLISTIC
Correct Answer: HOLISTIC
Candidate Answer: HOLISTIC

QID : 121 - Ram starts walking from a point. He walks 6 km to the north. He then turns east and walks 8 km. He then turns south walks 4 km. He then turns west
and walks 6 km. In which direction is Ram from his starting point?

W U g QT SRY BT §1 98 6 b, 1. IR B 3R Tctar 21 bR a8 Ud Y 3R ge o 8 3.4, =rerar 81 b g <féor &) 8ik geaw 4 b . weiar 31 bR %
U Bt 3R gSaR 6 5., Tadr 31 W S SRkfies fig ¥ frm famn & @2

Options:

1) North-East

SRARC

2) East

3) North

3R

4) South-East
Sigor-qd
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Correct Answer: North-East
SwR-gd

Candidate Answer: North-East
SwR-gd

QID: 122 - Lemon tree is 13t from either end in a row of trees. How many trees are there in the row?

3aft 3 U ek H, i &1 g T OR ¥ 13-a1 71 i 7 foba e 82
Options:

1) 26

2) 25

3)24

4) 27

Correct Answer: 25

Candidate Answer: 25

QID : 123 - In the following question below are given some statements followed by some conclusions. Taking the given statements to be true even if they seem to
be at variance from commonly known facts, read all the conclusions and then decide which of the given conclusion logically follows the given statements.

Statements:
I. Some blue are red.
II. All red are black.

Conclusions:
1. Some blue are black.
IL. No red is blue.

I T Qw7 B U SR I A18 I BYA! R SR B b 127 78 8, grefifer 379 A T1 et & fiyere 81 Jabht 51 It frspd o ofik bR fFeifa
X o fou U B | e, 3y U st & SR W gfeaa B

$W::ﬂ@r %
1. 9 Hid I &
11 g o o1 B

e
1. $% 9d F1a §
I1. SIS 1 e 7g 71
Options:
1) Only conclusion (I) follows.

e (1) ¥ &
2) Only conclusion (II) follows.
Paa ey (1) 9El 81
3) Eoth conclusion %follow.

I

4) Neither conclusion (I) nor conclusion (II) follows.
Fat e (1) 7 & e (1) TE B
Correct Answer: Only conclusion (I) follows.
Faa frse (1) T 31
Candidate Answer: Only conclusion (I) follows.

Fad ey (1) TE R

QID : 124 - In a certain code language, "THIS" is written as "UIJT". How is "CARD" written in that code language?

T fAfRIy S U/ "THIS" &1 "UIIT" foRaT ST 81 39 IS HIST H "CARD" &) ¥ TR forar samm?
Options:
1) DBSE

2) BBSE
3) DBTE

4) DCSE

Correct Answer: DBSE

Candidate Answer: DBSE

QID : 125 - In a certain code language, "GET" is written as "32" and "SET" is written as "44". How is "TOO" written in that code language?

T fAfRIy HIS UMW &, "GET" &1 "32" T "SET" & "44" feraT ST 81 39 HIs HTW H "TOO" &1 fohy YR ferar SIrawm?
Options:
1) 50

2) 42
3) 44

4) 39
Correct Answer: 50
Candidate Answer: 50
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QID : 126 - What is the sum of all natural numbers between 1 and 200 which are multiples of 5?

19 200 & 7eI 3 TRl I TTPHd TS S 5 BT U B, ITebT ANT 4T 82
Options:
1) 3900

2) 4100
3) 4155

4) 4235
Correct Answer: 3900
Candidate Answer: 3900

QID : 127 - A number exceeds its 1/5 by 44. What is the nhumber?

T T 30 1/5 q 44 b ¥ 98 TSI T 82
Options:

1) 65

2) 50

3)55

4) 70

Correct Answer: 55

Candidate Answer: 55

QID:128-

What is the value of 22°?

22" T AT FAT 2

Options:
1) 256
2) 1024
3) 65536
4) 8192

Correct Answer: 65536
Candidate Answer: 65536

QID : 129 - How many numbers less than 350 are multiples of both 4 and 3?
350 I & Tt forait Tl § S 4 99T 3 Gl T U 82

Options:

1) 29

2) 31

3) 30

4) 28
Correct Answer: 29
Candidate Answer: 29

QID : 130 - If the difference of two numbers is 7 and the difference of their squares is 203, then what is the smaller number?

e 3 Gmsil &7 3R 7 & IUT ISP 71 T 3faR 203 ©, ol BT G 1 22
Options:
1) 10

2)9
3)12

4) 11
Correct Answer: 11
Candidate Answer: 11

QID : 131 - What is the value of 0.00010?
0.00010 &1 A 4T §?

Options:

1) 1/1000

2) 1/10000

3) 1/100000

4) 1/100
Correct Answer: 1/10000
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Candidate Answer: 1/10000

QID : 132 - A can do a piece of work in 12 days. He worked for 3 days and B finished the remaining work in 48 days. B alone can do the whole work in how many
days?

A Tt o &t 12 3 o IR opar ¥1 SEA 3 o &l fmar qur A9 B B 7 48 o H @1 e B s ¥ B Y e 3 o W1 R ThelT 82
Options:

1) 64

2) 56

3)52

472

Correct Answer: 64

Candidate Answer: 64

QID: 133 -If 4/7t of a cistern is filled in 32 minute, then what is the time (in minutes) needed to fill the remaining part?

g HT BT 4/7-af U 32 e F WR 91T B, @ 99 §U UM & wRA § [ g (et /) ame
Options:

1) 24

2) 16

3)18

4)28

Correct Answer: 24

Candidate Answer: 24

QID : 134 - If the ratio of the volume of two cubes is 64 : 27, then what is the ratio of their edges?

Ife; 3 T B ST BT U 64 : 27 B, T ST YIS BT AT T 32
Options:

1)4:3

2)16:9

3)64: 27

4)4:9
Correct Answer: 4 : 3
Candidate Answer: 4 : 3

QID : 135 - A trader allows two successive discounts of 20% and 30% on selling an article. If he sells that article for Rs 1400, then what is the marked price (in Rs)
of the article?

T 3T ol avg &1 S9d THT 20% TUT 30% P 1 HiHD Fe a1 71 I a8 39 9%g I 1400 T | I 8, d Ig 1 3ifhd Ted (3 W) T 22
Options:

1) 2500

2) 2800

3) 3000

4) 3050

Correct Answer: 2500
Candidate Answer: 2500

QID : 136 - The marked price of an article is Rs 720. A shopkeeper gives a discount of 20% and still makes a profit of 20%. What is the cost price (in Rs) of the
article?

T I BT SHfthd Ted 720 T 81 GHMGR 20% HI e 3al § auT fhR 1t a8 20% &1 A HAT 81 I BT 67 Ted (3 H) 182
Options:

1) 480

2) 560

3) 450

4) 600
Correct Answer: 480
Candidate Answer: 480

QID : 137 - The ratio of two numbers is 2 : 9. If their difference is 70, then what is the smaller number?
& RSN BT U 2 : 9 1 AT 3T 3R 70 B, N BIST T o1 32

Options:

1) 15

2)20

3)25

4) 30
Correct Answer: 20
Candidate Answer: 20
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QID: 138 - If 3A = 2B = 12C, then whatis A: B : C?

g 3A=28=12Ce, AA:B: CHI?
Options:
1)10:5:2

2)4:6:1
3)4:6:5

4)2:5:10
Correct Answer: 4:6:1
Candidate Answer: 4:6: 1

QID : 139 - The average of 35, 37, 39, 41, B, 45 and 47 is 41. What is the value of B?

35, 37, 39, 41, B, 45 IUT 47 HT 3{Td 41 §| B BT HH T 87
Options:

1) 42

2)43

3) 44

4) 45

Correct Answer: 43

Candidate Answer: 43

QID : 140 - If chairs are bought at Rs 1500 each and sold at Rs 1200 each, then what will be the loss percentage?

e R BT 1500 T Ul Ff 1 R T ThaHR 1200 T Ufd Hoff B R J 39 far oran B, @ g1 wfara «r geme
Options:
1) 10%

2) 20%
3) 25%

4) 35%
Correct Answer: 20%
Candidate Answer: 20%

QID : 141 - If the rice is sold at Rs 66 per kg, there would be a 10% loss. To earn a profit of 50% what should be the price of rice (in Rs per kg)?

IS A1ae BT 66 T Tl 5.1, BT 32 31 91T B, A 10% P €1 Bl | 50% BT AT U B & 1T a1aet o1 f[Aepd I (3 Ui b7, o) m i =iiew?
Options:

1) 110

2) 105

3) 108

4) 112

Correct Answer: 110
Candidate Answer: 110

QID : 142 - If the price of an article is decreased by 33.33%, then to restore its former value the new price must be increased by what percent?

Ife; it ag & Heu W 33.33% B BT T Sl B, T U8 & Hed BT Y I8 & T 710 gea & v vfawa &1 gfS o<t e
Options:
1)33.33

2) 50
3)20

4) 25
Correct Answer: 50
Candidate Answer: 50

QID : 143 - If the price of a commaodity is decreased by 30% and its consumption is increased by 40%, then what will be the percentage increase or decrease in the
expenditure of the commodity?

T I B BT 30% FHH 8 Ol § TUT ITB! WU 40% T SNt 3, O avg R Td H e wfarwid o gfg a1 &t gefie
Options:

1) 2% decrease

2% B HH

2) 2% increase

2% B gfg

3) 12% increase

12% &1 3G

4) 12% decrease

12% &1 HHt

Correct Answer: 2% decrease

2% Bt HHT
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Candidate Answer: 2% decrease

2% B HH!

QID : 144 - Mahesh can cover a certain distance in 24 hours if he walks at the rate of 10 km/hr. If he covers the same distance by a car at the rate of 16 km/hr,
then what is the time (in hours) taken by him?

e T 10 6., /g @Y iy =7t o 98 T MR gl 24 TS § 797 IR THdl ¢ Al T8 38 gl B M A 16 .. /e B A A 77 BT 7, A SYD gRI forn
T 99Y (4t H) 1 82

Options:

1) 12

2)9

3) 15

4) 18

Correct Answer: 15

Candidate Answer: 15

QID : 145 - A man travels 1 hours of the journey at a speed of 50 km/hr and remaining 4 hours of the journey at 60 km/hr. What is the average speed (in km/hr)
of the entire journey?

TS fad A BT 1 °el, 50 .. /eer 3 1fa  qur A9 4 92, 60 .1 /e 3 1fa | 77 Far g1 vyl ann @Y oiva wify (.1 eer 7) @ 82
Options:

1) 55

2) 58

3) 56

4)57

Correct Answer: 58

Candidate Answer: 58

QID : 146 - An amount becomes 5 times in 8 years when kept in a scheme of simple interest. In how many years will it become 16 times?

TP R IR STt arett A1 & 3% e WR 8 af & 5 71 81 SIcht 81 98 16 AT fopem auf § g smwh?
Options:
1) 16

2) 30
3) 24

4) 28
Correct Answer: 30
Candidate Answer: 30

QID: 147 -
The table given below shows the number of two-

wheelers stolen in two cities A and B from the years
2008 to 2015.

@ & o afeesr # a¥ 2008 @ 2015 & @
AT A gar BA If gu guiear aredt & v

@ gITaT I B
Year/a¥ | CityA/gIA | CityB/ B
2008 135 153
2009 221 182
2010 215 193
2011 187 216
2012 180 192
2013 222 204
2014 175 210
2015 169 225

In city A, the percentage change in the number of two-wheelers stolen in two consecutive years is maximum in which year?

R A B, HHNTT <) ot & IR gU guizan are-t it W 7 vfawd aRad g af & sifwan 82
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2005
2) 2013
3) 2015

4) 2011
Correct Answer: 2009
Candidate Answer: 2009

QID: 148 -
The table given below shows the number of two-

wheelers stolen in two cities A and B from the years
2008 to 2015.

@ & 7 afoer & a¥ 2008 ¥ 2015 IF @
A A dur BA Iy g guidar areat & w=m

Y ST I B
Year/a§ | CityA/agIA | CityB /B
2008 135 153
2009 221 182
2010 215 193
2011 187 216
2012 180 192
2013 222 204
2014 175 210
2015 169 225

The number of two-wheelers stolen in city B is what percent of that of A in year 2014?
Iy 2014 T TR B H A1 gU guftar are-l Y TR 26X A T faben wfersrd 82
Options:

1) 120

2)87.5

3) 135

4) 175
Correct Answer: 120
Candidate Answer: 120
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QID: 149 -
The table given below shows the number of two-

wheelers stolen in two cities A and B from the years
2008 to 2015.

@ & mE afeer & a¥ 2008 @ 2015 T& @
A A Fur BHA If g gulean aear & ww=m

@ geirar T &

Year/a¥ | CityA/gTA | CityB/agIB
2008 135 153
2009 221 182
2010 215 193
2011 187 216
2012 180 192
2013 222 204
2014 175 210
2015 169 225

What is the average number of two-wheelers stolen in city A in the given period?

A 7S orafdy , TeR A B IR gU guitan argl 3 Sia Ter o 82
Options:

1) 179

2) 182

3) 188

4) 196

Correct Answer: 188
Candidate Answer: 188

QID : 150 -
The table given below shows the number of two-

wheelers stolen in two cities A and B from the years
2008 to 2015.

@ & m afeer & af 2008 @ 2015 T& @
AT A dar BA & gu quiedr aredt & wwwm

P AT I
Year/a¥ | CityA/agtA | CityB/agIB
2008 135 153
2009 221 182
2010 215 193
2011 187 216
2012 180 192
2013 222 204
2014 175 210
2015 169 225

In which year, the total number of two-wheelers stolen was maximum?

foog af o, =Y gu gufean are! &1 $o dom ey o 72
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Options:
1) 2009

2) 2010
3) 2013

4) 2015
Correct Answer: 2013
Candidate Answer: 2013

QID : 151 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

He added that his previous employee (1)/ in Lucknow never paid him on time (2)/ or gave him his full dues. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4)4

Correct Answer: 1

Candidate Answer: 3

QID : 152 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate
option. If a sentence is free from error, select 'No Error'.

That was all they had to (1)/ pay, no water, electricity (2)/ nor other bills. (3)/ No Error (4)
Options:

1)1

2)2

3)3

4) 4

Correct Answer: 3

Candidate Answer: 2

QID : 153 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

On the occasion of Ganesh Chaturthi the Guptas bought a new house.
Options:

1) prosperous

2) auspicious

3) official

4) fortuitous

Correct Answer: auspicious

Candidate Answer: auspicious

QID : 154 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and
indicate it by selecting the appropriate option.

He office late that day.
Options:

1) reached

2) was reached

3) reaching

4) is reach

Correct Answer: reached
Candidate Answer: was reached

QID : 155 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Urge

Options:

1) Depress

2) Discourage

3) Divert

4) Impulse

Correct Answer: Impulse
Candidate Answer: Impulse

QID : 156 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Abrupt
Options:

1) Deliberate
2) Gradual
3) Sudden
4) Regular

Correct Answer: Sudden
Candidate Answer: Deliberate
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QID : 157 - In the following question, out of the given four alternatives, select the one which best expresses the meaning of the given word.

Scream
Options:
1) Cry

2) Whisper
3) Hum

4) Murmur

Correct Answer: Cry
Candidate Answer: [ NOT ANSWERED ]

QID : 158 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Astonish
Options:
1) Surprise
2) Shock
3) Startle
4) Calm

Correct Answer: Calm
Candidate Answer: [ NOT ANSWERED ]

QID : 159 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Persuade
Options:
1) Advise
2) Affect
3) Assure
4) Prevent

Correct Answer: Prevent
Candidate Answer: Prevent

QID : 160 - In the following question, out of the given four alternatives, select the one which is opposite in meaning of the given word.

Coarse
Options:
1) Cheap
2) Common
3) Foul

4) Gentle

Correct Answer: Gentle
Candidate Answer: Gentle

QID : 161 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

No ifs and buts
Options:

1) Jubilant

2) Low spirited
3) No doubts

4) Screaming

Correct Answer: No doubts
Candidate Answer: No doubts

QID : 162 - In the following question, out of the four given alternatives, select the alternative which best expresses the meaning of the Idiom/Phrase.

In deep water
Options:

1) In great difficulties

2) With strength and fury
3) Using unfair means

4) Struck by thunder

Correct Answer: In great difficulties
Candidate Answer: In great difficulties

QID : 163 - Improve the bracketed part of the sentence.

It was a formidable challenge that they (offer) going into the Glasgow championships.
Options:

1) offered

2) offering

3) will offering

4) No improvement

Correct Answer: offered
Candidate Answer: offered
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QID : 164 - Improve the bracketed part of the sentence.

This rivalry is (prove to) be extremely beneficial for Indian badminton.
Options:

1) to prove to

2) proving to

3) proving by

4) No improvement

Correct Answer: proving to

Candidate Answer: proving to

QID : 165 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

A person whose profession is to keep accounts.
Options:

1) Secretary

2) Treasurer

3) Accountant

4) Office boy

Correct Answer: Accountant

Candidate Answer: Accountant

QID : 166 - In the following question, out of the four given alternatives, select the alternative which is the best substitute of the phrase.

A place where clothes are washed and pressed.
Options:

1) Foundry

2) Sundry

3) Husbandry

4) Laundry

Correct Answer: Laundry

Candidate Answer: Laundry

QID : 167 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Procedger

2) Procedure

3) Proceadure

4) Proceger

Correct Answer: Procedure
Candidate Answer: Procedure

QID : 168 - In the following question, a word has been written in four different ways out of which only one is correctly spelt. Select the correctly spelt word.
Options:

1) Livaeble

2) Lieivable

3) Livable

4) Liveble

Correct Answer: Livable
Candidate Answer: Liveble

QID : 169 - Rearrange the parts of the sentence in correct order.

The magnitude of stress

P: individual's operational style
Q: environmental forces or an
R: is determined by the
Options:

1) PQR

2) RPQ

3) RQP

4) QPR

Correct Answer: RQP

Candidate Answer: RQP

QID : 170 - Rearrange the parts of the sentence in correct order.

Time management is the

P: as to make the most of it
Q: technique to use one's
R: time efficiently so
Options:

1) QRP

2) PQR

3) RPQ

4) QPR

Correct Answer: QRP

Candidate Answer: QRP
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QID : 171 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Brain Drain is an extremely problem for developing countries. The destiny of such countries lies in the to this great problem. India can be taken as
an instance in this point. After independence this country is engaged in difficult against poverty. But struggles cannot be launched in papers; they require
armies of trained — the scientists, technical knowhow and specialists in the field of planned development. If, instead of to the prosperity of India,
the Indian scientists, research scholars, engineers, doctors and economists immigrate to other countries, it is difficult to see how India can implement her
development plans and attain her goal of prosperity.

Brain Drain is an extremely problem
Options:

1) worst

2) serious

3) worth

4) henious

Correct Answer: serious
Candidate Answer: serious

QID : 172 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Brain Drain is an extremely problem for developing countries. The destiny of such countries lies in the to this great problem. India can be taken as
an instance in this point. After independence this country is engaged in difficult against poverty. But struggles cannot be launched in papers; they require
armies of trained — the scientists, technical knowhow and specialists in the field of planned development. If, instead of to the prosperity of India,
the Indian scientists, research scholars, engineers, doctors and economists immigrate to other countries, it is difficult to see how India can implement her
development plans and attain her goal of prosperity.

in the to this great
Options:

1) solution

2) question

3) attribute

4) idea

Correct Answer: solution
Candidate Answer: solution

QID : 173 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Brain Drain is an extremely problem for developing countries. The destiny of such countries lies in the to this great problem. India can be taken as
an instance in this point. After independence this country is engaged in difficult against poverty. But struggles cannot be launched in papers; they require
armies of trained — the scientists, technical knowhow and specialists in the field of planned development. If, instead of to the prosperity of India,
the Indian scientists, research scholars, engineers, doctors and economists immigrate to other countries, it is difficult to see how India can implement her
development plans and attain her goal of prosperity.

Engaged in difficult against poverty.
Options:

1) life

2) time

3) struggle

4) period

Correct Answer: struggle

Candidate Answer: struggle

QID : 174 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Brain Drain is an extremely problem for developing countries. The destiny of such countries lies in the to this great problem. India can be taken as
an instance in this point. After independence this country is engaged in difficult against poverty. But struggles cannot be launched in papers; they require
armies of trained — the scientists, technical knowhow and specialists in the field of planned development. If, instead of to the prosperity of India,
the Indian scientists, research scholars, engineers, doctors and economists immigrate to other countries, it is difficult to see how India can implement her
development plans and attain her goal of prosperity.

They require armies of trained — the scientists,
Options:

1) person

2) personified

3) personnel

4) personal

Correct Answer: personnel

Candidate Answer: personnel

QID : 175 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the
four alternatives.

Brain Drain is an extremely problem for developing countries. The destiny of such countries lies in the to this great problem. India can be taken as
an instance in this point. After independence this country is engaged in difficult against poverty. But struggles cannot be launched in papers; they require
armies of trained — the scientists, technical knowhow and specialists in the field of planned development. If, instead of to the prosperity of India,
the Indian scientists, research scholars, engineers, doctors and economists immigrate to other countries, it is difficult to see how India can implement her
development plans and attain her goal of prosperity.

If, instead of to the prosperity of India,
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Options:
lr;i;)trif)uting
2) creating
3) insulting
4) contributing
Correct Answer: contributing

Candidate Answer: contributing

QID : 176 - Letter D in GDP stands for in economics.

srfemee F off St 7 arer St o eRid T g
Options:
1) Domestic

2) Development
3) Depriciation

4) Destruction

Correct Answer: Domestic

Candidate Answer: Domestic

QID : 177 - Development of humans along with sustaining the ability of natural system is called

TIpTeh o P &1 BT S XGH & 1Y € Al BT ey T Sl B
Options:

1) Unbelievable development

SHfayeg fasr

2) Environmental development

3) Sustainable development
qdq
4) Social development

Correct Answer: Sustainable development
Faq fasr™

Candidate Answer: Sustainable development
ERGACEZR

QID : 178 - How many types of writs can be issued in Indian Constitution?

YR T F fhas UPR & U™ SIR) {5 ST Iahd &2
Options:

1) One

Th

2) Five

g

3) Seven

qrd

4) Eleven

R

Correct Answer: Five
g

Candidate Answer: Five
qrd

QID : 179 - In which form of government rulers are elected by the people?

9 UHR & AR & RIHT BT AT AN B 82
Options:

1) Agtrocratic

2) ngocratic

3) Aris_tocratic

4) Monarchic
RUSGE]
Correct Answer: Democratic

Canqidate Answer: Democratic
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QID : 180 - Where is the famous rust-resistant iron pillar located?

TR S iRt e Wi el W fRd 72
Options:
1) Mysore

2) Delhi
3) Hyderabad

4) Kolkata
BIABTAl
Correct Answer: Delhi

Candidate Answer: Delhi

QID : 181 - When was Indian National Congress established?

YRR T HI BT R ooy v 7 g8 o
Options:
1) 1880

2) 1885
3) 1890

4) 1895
Correct Answer: 1885
Candidate Answer: 1885

QID : 182 - How is the shape of Earth described?

Tt B STBR Y BT Tl Wl 87
Options:
1) Circular

2) Oval

JSHR

3) Oblate Spheroid
ELHESIEIRN

4) Spherical
TABR

Correct Answer: Oblate Spheroid
TUeT 3fSTHR

Candidate Answer: Oblate Spheroid
Ul 3fSTHR

QID : 183 - The Ural Mountains in Russia are which type of mountains?

3G H TR Udd fbd YR & Tdd 82
Options:

1) Old Fold Mountains

RM aferd gdd

2) Young Fold Mountains

gaT aferd gdd

3) Block Mountains

4) Volcanic Mountains

Correct Answer: Old Fold Mountains
R gferd gdd
Candidate Answer: Young Fold Mountains

a1 aferd udd

QID : 184 - Which is/are not biotic components?
I. Plants

II. Rocks

II1. Air

9 & A P 59 uew o &2
L0

IL 9gH
111, 1Y
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Options:

1) Only I

Pad I

2) Only II

Pad I

3) Only III

%ad III

4) Both II and III
11 9T 111 G

Correct Answer: Both II and III
II 9T 111 3

Candidate Answer: Only II
FHad 11

QID : 185 - Germs entering the body through food are mainly killed in the region of alimentary canal where pH may reach the level

ioH & Trery F IRR H Ugen a1d HIeTy] SMeR A1d & &9 § 1R o § ifes g8t theg &1 wR % Ugd I g
Options:
1)2

2)7
3) 14

4)0
Correct Answer: 2
Candidate Answer: 2

QID : 186 - The life span of human WBC is normally .

AG S, o). . B WA e S ol
Options:

1) 5 - 21 days

5-21f

2) 45 - 50 days

45 — 50 f&1

3) 100 — 110 days

100 - 110 &7

4) 6 — 8 months

6 -8 e

Correct Answer: 5 — 21 days
5-21fF

Candidate Answer: 5 — 21 days
5-21f

QID : 187 - Material which allow electricity to pass through them are of electricity.

S geref oo ofeR fagad YRTHT U g ad & 9 =
Options:
1) Insulators

fagaa Juw
2) Conductors
fagad areie
3) Dispersion

4) Refraction
KIRCRE

Correct Answer: Conductors
fagad aa®

Candidate Answer: Conductors
fagad T

QID : 188 - What are the objects like the sun that emit light of their own called?

S oY G Pl TRE WY UBT BT Ioi hdl] & I T hedl &7
Options:
1) Transparent objects

Iy
2) Opaque objects

3) Translucent objects

IRURT 3%

4) Luminous objects
Iy

Correct Answer: Luminous objects

di fis a¥g
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Candidate Answer: Luminous objects

4w fis axg

QID : 189 - Which among the following is portable and easy to carry?

iR & I S didad aur gn § 3 82
Options:
1) Super computer

IR PEX

2) Mini computer

ot gex
3) Laptop
AUy

4) None of the§e
EIEE |

Correct Answer: Laptop

Candidate Answer: Laptop

QID : 190 - Intermolecular space is the least in

SRT-3UH Nt M Tad &1 Hel
Options:

1) Water

urft

2) Steam
T

3) Ice
5

4) All of them
8 g o

Correct Answer: Ice

Candidate Answer: Ice

QID : 191 - The formula of quicklime is

e eIE Rl
Options:
1) Ca(OH),

2) CaF
3) Ca0

4) C32CO3
Correct Answer: Ca0O
Candidate Answer: Ca,CO3

QID : 192 - Which among the following is not a Abiotic component of an ecosystem?

fofofad & @ S 91 ok &1 U 3919 T g 82
Options:

1) Temperature

ag

2) Forest

Gol

3) Wind

ag
4) Soil
qar

Correct Answer: Forest
aq

Candidate Answer: Forest
g

QID : 193 - Pradhan Mantri Awas Yojana is launched with an aim achieve housing for all by the year .

YT AR IS ST YHIRY T g Tt ¥ AU Sar & e &1 U SR % foe fmar man B
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Options:
1) 2019

2) 2020
3) 2022

4) 2024
Correct Answer: 2022
Candidate Answer: 2022

QID : 194 - Which of the following was discovered by W.C Roentgen?

o, . oo gr1 Fefaied 7 9§ frwe! @ia &1 18 ot
Options:

1) Washing Soda

FIRET HST

2) X-rays
T

3) Telegraph
drR

4) Submarine

Correct Answer: X-rays
TR

Candidate Answer: X-rays
TR

QID : 195 - Who became the first Indian to score a triple century in Tests?

T F e WqH M TS B YR I T2
Options:

1) Sachin Tendulkar

i

2) Virender Sehwag

CIRERCEEI]

3) Rahul Dravid

5 s

4) Karun Nair

DU IR

Correct Answer: Virender Sehwag
dRg Fgar

Candidate Answer: Virender Sehwag
dg FgarT

QID : 196 - Stiched clothes such as salwars, kurtas, topees, etc were brought to India by whom?

IAAR, Fal, SISt o S RId §U HUS YRA & foerds §RT 1T T2
Options:

1) Mughals and Mongols

Tal quT et

2) Afghans and Turks

ST qUT Teb

3) Kushans, Shakas and Parthians

PR, D qYUT

4) Portugquese and Britishers

g quT SRl

Correct Answer: Kushans, Shakas and Parthians
PR, D qYT

Candidate Answer: Afghans and Turks

ST qUT Teb

QID : 197 - Who among the following is recipient of Rajiv Gandhi Khel Ratna Award 2017?

fofoiad & 9 19 Iofa e a9 REBR 2017 F Uwdm 82
Options:

1) Sardar Singh

waR Rig

2) Roshan Lal

RGN

3) V.J Surekha

6. 3. e

4) Bhupender Singh

Correct Answer: Sardar Singh
R Rig
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Candidgte Answer: Sardar Singh
WaR g

QID : 198 - Who is the author of book named "Anand Math"?

"3{E T" AT GIAD P AGH B 82
Options:

1) Panini

qrfor=

2) Sarojini Naidu

aag
3) Bankim Chandra Chatterjee
. . 5

4) Rabindranath Tagore
STy TR

Correct Answer: Bankim Chandra Chatterjee

Candidate Answer: Bankim Chandra Chatterjee

QID : 199 - India had signed a deal with which gulf OPEC country that allows it to fill half of an underground crude oil storage facility at Bangalore, Karnataka?

W%m M4 (o) I S TIY TH THIA R R fbar B, S FTaR, Ffed T YD = A USRI B GRAeT &1 31T TR 4R &Y gorreid e
HIAT B

Options:

1) Saudi Arabia

T3hal 3Rd

2) United Arab Emirates

Tgad 3RT R

3) Iraq

RSP

4) Iran

Correct Answer: United Arab Emirates
TG SR SR
Qandidate Answer: United Arab Emirates

TgaT 3RT R

QID : 200 - Who among the following observes and reports on ceasefire violations along and across the line of control between India and Pakistan?

el & @ S YR quT i & st Fg=07 Y61 R gefaRm & Joeia & AR &=ar & aur fdavor aar 82
Options:
1) NATO

LSRR A
2) UNMOGIP

g, TF. TH. oft. Rt ofs. .

3) UNESCO

g, T 3. T, . o,

4) UNCIP

g, T, . o, .

Correct Answer: UNMOGIP

g, T . 3. off. ofrs. ot

Candidate Answer: [ NOT ANSWERED ]
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